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HPE_CIEF-Zapfen-Empfindlichkeit  Ysum=100
m−F02_X,s(λ)=B21x

−
F02_X,s(λ)+B22y

−
F02_X,s(λ)

+B23z
−

F02_X,s(λ)
B2j −0,4170 1,1772 0,0786λ=540

D65:Σm−F02_X,s(λ)=102,03
xF02_X,s=0,2144
yF02_X,s=0,2621
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D50:Σm−F02_X,s(λ)=97,76
xF02_X,s=0,2422
yF02_X,s=0,3033
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P40:Σm−F02_X,s(λ)=93,92
xF02_X,s=0,2749
yF02_X,s=0,3325
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A00:Σm−F02_X,s(λ)=88,86
xF02_X,s=0,3513
yF02_X,s=0,3969
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E00:Σm−F02_X,s(λ)=99,94
xF02_X,s=0,2320
yF02_X,s=0,2683
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C00:Σm−F02_X,s(λ)=102,58
xF02_X,s=0,2136
yF02_X,s=0,2486



BG480−5A_1

Wellenlänge λ /nm
400 500 600 700

0,0

2,5

5,0

7,5

10

HPE_CIEF-Zapfen-Empfindlichkeit  Ysum=100
m−F02_X,s(λ)=B21x

−
F02_X,s(λ)+B22y

−
F02_X,s(λ)

+B23z
−

F02_X,s(λ)
B2j −0,4170 1,1772 0,0786λ=540

P00:Σm−F02_X,s(λ)=96,83
xF02_X,s=0,2561
yF02_X,s=0,2974
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Q00:Σm−F02_X,s(λ)=103,72
xF02_X,s=0,2110
yF02_X,s=0,2389


